nstallation sanleitung

nstallation Instruction
nstruction d'installation Unser

Vous étes rosponnnlo de remettre tous
[ les appareiis électriques et électroniques
) usages A des points de collects
g > correspondants.
| Pour en savoir plus:
www. quefairedemesdechets.fr

Unser Produkt wird Ihnen in 2 Paketen geliefert. Die Lieferzeiten dieser 2 Pakete k6nnen
abweichen,bitte haben Sie etwas Geduld und vielen Dank fur 1hr Verstandnis.

Our product will be delivered to you in 2 packages. The delivery times of these 2
packages may differ,please be patient and thank you for your understanding.

Notre produit vous sera livre en 2 colis. Les delais de livraison de ces 2 colis peuvent
differer,soyez patient et merci pour votre comprehension.

N636P213589 / N636P213591
N636P213593 / N636P213598




IMPORTANT ! KEEP FOR FUTURE REFERENCE : READ CAREFULLY

- ~
-~ ~

//' To be assembled by an adult. Assembly must be checked by an adult before use N
* WARNING ! Keep all screws, small parts and plastic bags out of the reach of children
* Properly identify all parts before assembling
* Never use your item if any of its parts are broken or missing
* Should any problems arise, please contact our After Sales Service
* Manufacturer's instructions shall be followed at all times
* Care: Clean with a soft, dry cloth. In case of larger stains, carefully rub with a slightly damp, non-
abrasive sponge

* Avoid the risk of fire by not placing furniture near sources of ignition or hot items
\ ’

.2 Do not jump on the bed %

WICHTIG ! ZUM SPATEREN NACHSCHLAGEN AUFBEWAHREN: SORGFALTIG LESEN

- ~

-
%
e
4

Muss von einem Erwachsenen zusammengebaut werden.Der Zusammenbau muss vor dem Gebrauch \

-
-

! von einem Erwachsenen tiberpriift werden

* WARNUNG! Bewahren Sie alle Schrauben, Kleinteile und Plastikbeutel auRerhalb der Reichweite von
Kindern auf

* Kennzeichnen Sie vor dem Zusammenbau alle Teile richtig

* Benutzen Sie lhren Artikel niemals, wenn Teile gebrochen sind oder fehlen

* Sollten Probleme auftreten, wenden Sie sich bitte an unseren Kundendienst

* Die Anweisungen des Herstellers sind stets zu befolgen

* Pflege: Mit einem weichen, trockenen Tuch reinigen. Bei gréReren Flecken vorsichtig mit einem leicht
feuchten, nicht scheuernden Schwamm abreiben. nicht scheuernden Schwamm

* Vermeiden Sie die Gefahr eines Brandes, indem Sie die Mébel nicht in der Nahe von Ziindquellen oder

S~ -

v heifen Gegenstanden aufstellen

AY
N

\\1 Nicht auf das Bett springen Y

Frangais IMPORTANT ! CONSERVER POUR REFERENCE ULTERIEURE : LIRE ATTENTIVEMENT

-
- ~

,/": Le montage doit étre effectué par un adulte. Le montage doit étre vérifié par un adulte avant AN
! Utilisation

* ATTENTION ! Tenir les vis, les petites piéces et les sachets en plastique hors de portée des enfants

* Identifiez correctement toutes les piéces avant de les assembler

* N'utilisez jamais votre article si I'une de ses piéces est cassée ou manquante

* En cas de probléme, veuillez contacter notre service aprés-vente

* Les instructions du fabricant doivent étre respectées & tout moment

* Entretien : nettoyer avec un chiffon doux et sec. En cas de taches plus importantes, frotter

soigneusement avec une éponge non abrasive légérement humide. |égérement humide et non

Abrasive

» Evitez les risques d'incendie en ne plagant pas les meubles & proximité de sources d'inflammation

\ ou d'objets chauds ;

\ !

______




IMPORTANTE! CONSERVARE PER RIFERIMENTO FUTURO: LEGGERE ATTENTAMENTE

________________________________________________________________________________________________________________
s

/"« Deve essere assemblato da un adulto. L'assemblaggio deve essere controllato da un adulto prima dell'uso A
« ATTENZIONE! Tenere tutte le viti, le piccole parti e i sacchetti di plastica fuori dalla portata dei bambini
* Identificare correttamente tutte le parti prima dell'assemblaggio
* Non utilizzare mai l'articolo se alcune parti sono rotte o mancanti
* In caso di problemi, si prega di contattare il nostro Servizio Post Vendita
* Le istruzioni del produttore devono essere sempre seguite
* Cura: Pulire con un panno morbido e asciutto. In caso di macchie pill estese, strofinare accuratamente con
una spugna leggermente umida e nonspugna leggermente umida e non abrasiva

* Evitare il rischio di incendio, non collocando i mobili vicino a fonti di accensione o a oggetti caldi
\
% * Non saltare sul letto /

N, ’
~ 3
S~ -

i IMPORTANTE ! CONSERVELO PARA FUTURAS CONSULTAS: LEA ATENTAMENTE

- ~
e N,

,,"’° Debe ser montado por un adulto. El montaje debe ser comprobado por un adulto antes del uso \
I ADVERTENCIA Mantenga todos los tornillos, piezas pequefias y bolsas de pldstico fuera del alcance de los nifios.

* Identifique correctamente todas las piezas antes de montarlas

* Nunca utilice su articulo si alguna de sus piezas estd rota o falta

* Si surge algin problema, pdngase en contacto con nuestro Servicio Postventa

* Las instrucciones del fabricante deben seguirse en todo momento

* Cuidado: Limpiar con un pafio suave y seco. En caso de manchas mds grandes, frote cuidadosamente con una
esponja no abrasiva ligeramente humedecida.

* Evite el riesgo de incendio no colocando los muebles cerca de fuentes de ignicion u objetos calientes.

o e e e e e

\ * No saltar sobre la cama. /

N, 2
~ -
~. -




N636P213591 / N636P213598

®*1 1 @2*1 @31 1
@ (G @ :
{7 U, @ T,
\C Mg
M8*16 M8*30 M5*20 M4*30 M8
A*24 B*6 C*6 D*8 E*6
M5 M8

F*1 G*1 H*1 1*1




N636P213589 / N636P213593

M8*16 M5*20

A*24 C*6

Bitte beachten Sie, dass die Formen der Schrauben A und B und C ahnlich sind.Bitte
installieren Sie entsprechend der Anleitung und unterscheiden Sie sie!

Please note that the shapes of screws A and B and C are similar. Please install according to
the instructions and distinguish them!

Notez que les vis A et B et C ont des formes similaires. Veuillez les installer en suivant les
instructions pour les separer!




DE

DE:Vor dem Einbau die Schrauben in die Locher stecken und
festziehen, aber nicht bis 100%, 70% bis 80% anziehen reicht
aus. Schliel3lich, nachdem alle Schrauben installiert sind,
ziehen Sie alle Schrauben auf 100%.Wenn Sie auf diese
Probleme stolen, wie z. B. Fehlausrichtung der Locher oder
Unfahigkeit, bestimmte Teile zu installieren, Uberprufen Sie
bitte, ob die Schrauben korrekt verwendet werden und passen
Sie die Dichtigkeit der Schrauben an.

UK

Before installation, insert the screws into the holes and tighten
them, but do not tighten them to 100%,70% to 80% is
sufficient. Finally, after all screws are installed, tighten all
screws to 100%.If you encounter these issues, such as if the
holes cannot be aligned or some parts cannot be installed,
please check if the screws are used correctly and adjust the
tightness of the screws.

FR

Insérer la vis dans le trou avant la fin de 'assemblage, serrer
la vis, mais ne pas serrer a 100%, 70% ~ 80% est correct.
Enfin, une fois que toutes les vis sont bien serrées, toutes les
vis sont serrées a 100%.Si vous rencontrez ces problemes,
par exemple si les trous ne sont pas alignés ou si certaines
pieces ne peuvent pas étre montées, verifiez que les vis sont
utilisées correctement et Ajustez leur serrage.




*

A*4

Schritt 1

A:M8*16

A*4

Schritt 2

sg:i?g!
A:M8*16




Nritt 3

3*1

@*1

A*4

Nritt 4

12*1

13*1

A*2




A*4

" Schritt 5

A*4

Schritt 6

N
A:M8*16




C*2

Schritt 7

Ng
C:M5*20

" Schritt 8
,/@*10




B*2

Schritt 9

o
B:M8*30

Schritt 10

D*8

g
D:M4*30




Schritt 11

B*2

E*2

o

B:M8*30

E:M8

Schritt 12

o

B*2

E*2

B:M8*30

W%
E:M8




Schritt 14

A*2

A:M8*16




" Schritt 15

@ o

Entlang der Kante der Platine installieren.

die Installation

Herzlichen Gluckwunsch

Ist abgeschlossen!



DE:Wenn Sie die Lichter nicht erfolgreich arbeiten lassen
konnen, uberprufen Sie bitte die Folgendes:

1. Bitte Uberprufen Sie die Fernbedienung. Sie mussen die
Fernbedienung abreif’en Plastikseptum vor Gebrauch.

2. Lassen Sie die Fernbedienung nicht zu weit vom
Empfanger entfernt sein Es gibt kein Hindernis zwischen
ihnen.

3. Bitte beachten Sie, dass die Fernbedienung fur den
Transport keine Batterien enthalt. Das Batteriemodell lautet:
CR1120

FR: Si vous ne parvenez pas a faire fonctionner les lumiéres
correctement, veuillez vérifier les points suivants?:

1. Veuillez vérifier la télécommande. Vous devez retirer le
septum en plastique de la télécommande avant utilisation.

2. Ne laissez pas la téelecommande étre trop eloignée du
recepteur. Il n'y a aucun obstacle entre eux.

3. Veuillez noter que la téléecommande ne contient pas de
piles pour le transport. Le modéle de batterie est?: CR1120
UK: If you can't make the lights work successfully, please
check the following:

1. Please check the remote control. You need to tear off the
remote plastic septum before use.

2. Don't let the remote control be too far from the receiver
There is no obstacle between them.

3. Please note that the remote control does not contain
batteries for transportation. The battery model is: CR1120




NOTE: The battery in the remote control requires you to purchase and install it yourself.
Model: CR1120 3.V

2

Modell : CR1120 3.V




te

TIFIC
+C€R AT/O4/
é«@ G‘&o
~ o

Certificate of Conformity =¢ @

Certificate Number: LTC22042101S01 &3@

ICa

Holder of Certificate ..: Zhongshan HeXin Lighting Technology Co., Ltd.

Address...................... 5th Floor, Building 1, No. 20, Kanglong 5 Road, Xinmao Industrial
Zone, Henglan Town, Zhongshan City

— Certif

Manufacturer.............: Zhongshan HeXin Lighting Technology Co., Ltd.
Address...................... 5th Floor, Building 1, No. 20, Kanglong 5 Road, Xinmao Industrial
Zone, Henglan Town, Zhongshan City
.mllllm Trademark.................. N/A
E:Q Product Name...........: Led Strip light
[ Model(s) .................... See Appendix
u:l Test Standard...........: EN60598-2-20:2015 in conjunction with

=

EN IEC 60598-1:2021

EN 62493:2015

EN IEC 62031:2020+A11:2021
EN 62471:2008

Directives................. LVD Directive 2014/35/EU
Report Number.......... LTR22042101S01
Remark:

The certificate of conformity is based on an evaluation of sample if the above
mentioned product. Complies with the requirements of European Community LVD
Directive 2014/35/EU. This declaration applies to all specimens manufactured in
accordance with the attached manufacturing drawing which form part of this
declaration.

Chief Executive
Date: Apr. 27, 2022

Approved

Guangdong Lintek Certification Group Co., Ltd.
4F ,Building B,No. 1165 Guanguang Road,Xinshigiao Village,Guanlan Street,Longhua
District,Shenzhen,China
IMKinfo@linteklab.com®) www.linteklab.com

1
(©
'
>
G
>
|_
Q.
)
@
I
)
e
(O
O
=
T
)
@




Icate

— Certif

EEAE

L
©
'
s
=]
<
|_
Q
o,
@
I
O
e
©
O
=
e
-
o,
@

Certificate of Conformity

Certificate Number: LTC22042101S01

Appendix: Model List

HX5050-5V, HX5050-12V, HX5050-24V, HX5050-110V, HX5050-220V, HX5050-230V,
HX2835-5V, HX2835-12V, HX2835-24V, HX2835-110V, HX2835-220V, HX2835-230V,
HX3035-5V, HX3035-12V, HX3035-24V, HX3035-110V, HX3035-220V, HX3035-230V,
HX4040-5V, HX4040-12V, HX4040-24V, HX4040-110V, HX4040-220V, HX4040-230V,
HX5630-5V, HX5630-12V, HX5630-24V, HX5630-110V, HX5630-220V, HX5630-230V,
HX5730-5V, HX5730-12V, HX5730-24V, HX5730-110V, HX5730-220V, HX5730-230V,
HX3014-5V, HX3014-12V, HX3014-24V, HX3014-110V, HX3014-220V, HX3014-230V,
HX3535-5V, HX3535-12V, HX3535-24V, HX3535-110V, HX3535-220V, HX3535-230V,
HX2020-5V, HX2020-12V, HX2020-24V, HX2020-110V, HX2020-220V, HX2020-230V,
HX2016-5V, HX2016-12V, HX2016-24V, HX2016-110V, HX2016-220V, HX2016-230V,
HX-COB-5V, HX-COB-12V, HX-COB-24V, HX-COB-110V, HX-COB-220V, HX-COB-230V,
HX2811-5V, HX2811-12V, HX2811-24V, HX2811-110V, HX2811-220V, HX2811-230V,
HX2812B-5V, HX2812B-12V, HX2812B24V, HX2812B-110V, HX2812B-220V, HX2812B-230V,
HX2813-5V, HX2813-12V, HX2813-24V, HX2813-110V, HX2813-220V, HX2813-230V,
HX2815-5V, HX2815-12V, HX2815-24V, HX2815-110V, HX2815-220V, HX2815-230V,
HX1812-5V, HX1812-12V, HX1812-24V, HX1812-110V, HX1812-220V, HX1812-230V,
HX5050-5V-1M, HX5050-5V-2M, HX5050-5V-3M, HX5050-5V-4M, HX5050-5V-5M,
HX5050-5V-6M, HX5050-5V-7M, HX5050-5V-8M, HX5050-5V-9M, HX5050-5V-10M,
HX2835-5V-1M, HX2835-5V-2M, HX2835-5V-3M, HX2835-5V-4M, HX2835-5V-5M,
HX2835-5V-6M, HX2835-5V-7M, HX2835-5V-8M, HX2835-5V-9M, HX2835-5V-10M,
HX2835-5V-15M, HX2835-5V-20M, HX3035-5V-1M, HX3035-5V-2M, HX3035-5V-3M,
HX3035-5V-4M, HX3035-5V-5M, HX3035-5V-6M, HX3035-5V-7M, HX3035-5V-8M,
HX3035-5V-9M, HX3035-5V-10M, HX3035-12V-5M, HX3035-12V-6M, HX3035-12V-7.5M,
HX3035-12V-8M, HX3035-12V-10M, HX3035-12V-15M, HX3035-12V-20M, HX3035-12V-30M,
HX3035-12V-40M, HX5050-12V-5M, HX5050-12V-6M, HX5050-12V-7.5M, HX5050-12V-8M,
HX5050-12V-10M, HX5050-12V-15M, HX5050-12V-20M, HX5050-12V-30M, HX5050-12V-40M,
HX2835-12V-5M, HX2835-12V-6M, HX2835-12V-7.5M, HX2835-12V-8M, HX2835-12V-10M,
HX2835-12V-15M, HX2835-12V-20M, HX2835-12V-30M, HX2835-12V-40M,
HX5050-24V-5M, HX5050-24V-6M, HX5050-24V-7.5M, HX5050-24V-8M,
HX5050HX3535-24V-10M, HX5050-24V-15M, HX5050-24V-20M, HX5050-24V-30M,
HX5050-24V-40M, HX2835-24V-5M, HX2835-24V-6M,HX2835-24V-7.5M, HX2835-24V-8M,
HX2835-24V-10M, HX2835-24V-15M, HX2835-24V-20M, HX2835-24V-30M, HX2835-24V-40M,
HX3035-24V-5M, HX3035-24V-6M, HX3035--24V-7.5M, HX3035-24V-8M, HX3035-24V-10M,
HX3035-24V-15M, HX3035-24V-20M, HX3035-24V-30M, HX3035-24V-40M

Guangdong Lintek Certification Group Co., Ltd.
4F ,Building B,No. 1165 Guanguang Road,Xinshigiao Village,Guanlan Street,Longhua
District,Shenzhen,China
IMKinfo@linteklab.com®) www.linteklab.com




	1
	图纸和视图
	布局1


	2
	图纸和视图
	布局1


	1
	图纸和视图
	布局1


	2
	图纸和视图
	布局1


	3
	图纸和视图
	布局1


	4
	图纸和视图
	布局1


	5
	图纸和视图
	布局1


	6
	图纸和视图
	布局1


	7
	图纸和视图
	布局1


	8
	图纸和视图
	布局1


	9
	图纸和视图
	布局1


	10
	图纸和视图
	布局1


	3
	图纸和视图
	布局1


	3.pdf
	图纸和视图
	布局1


	7.pdf
	图纸和视图
	布局1





